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3*x1-cos(x2*x3)-1/2=0
x1"2-81*(x2+0.1)"2+sin(x3)+1.06=0

exp(-x1*x2)+20*x3+(10*pi-3)/3=0
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function f=fun(x);
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syms x1 x2 x3
f1=3*x1-cos(x2*x3)-1/2;
f2=x1"2-81*(x2+0.1)"2+sin(x3)+1.06;
f3=exp(-x1*x2)+20*x3+(10*pi-3)/3;

f=[f1 f2 f3];
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function df=dfun(x);

% FH AR SR A 5 RE AL I HE B LU A 444 dfun o
f=fun(x);

df=[diff(f,'x1");diff(f,'x2");diff(f,'x3")];

df=conj(df");
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function x=newton(x0,eps,N);

con=0;
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for i=1:N;
f=subs(fun(x0),{’x1' 'x2' 'x3},{x0(1) x0(2) x0(3)});
df=subs(dfun(x0),{'x1' 'x2' 'x3'},{x0(1) x0(2) x0(3)});
x=x0-f/df;

for j=1:length(x0);



il(i,))=x();

end

if norm(x-x0)<eps
con=1,;

break;

end

X0=x;

end
% DL T LA R B N txt SCRY AR 44 4 iteration. txt

fid=fopen('iteration.txt','w");
fprintf(fid,'iteration’);

for j=1:length(x0)
fprintf(fid,’ x%d',j);

end

for j=1:i

fprintf(fid,"\n%6d ',j);

for k=1:length(x0)
fprintf(fid,' %10.6f,il(j,k));
end

end



if con==1

fprintf(fid,"\n TH5E45 RIS );

end

if con==0
fprintf(fid,\n AL HGS Z W REASL! ),
end

fclose(fid);
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newton([0.1 0.1 -0.1],0.00001,20)

B 45 R

ans =

0.5000 0.0000 -0.5236
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iteration x1 x2 x3

1 0.490718 0.031238 -0.519661
2 0.509011 0.003498 -0.521634
3 0.500928 0.000756 -0.523391
4 0.500227 0.000076 -0.523550
5 0.500019 0.000018 -0.523594
6 0.500005 0.000002 -0.523598

7 0.500000 0.000000 -0.523599
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